« AEH| 7

4% 2o 82 AAN2AS, o2 BO| AL XI2S JE OfYET B AT,

[

« No-Slip £|A3 445
NBR Q=112 (PERBUNAN), A& 80~85, Shore A, ZH.
- LMR: =-& & (no-slip) C|23 ¢S,
. - LMR-AS: =-28 (no-slip) C|A23 US.
& # ‘{E Hio
OIiEE B AE, X3 AEZ 23 I+
[ =
v 5y g oA
S o] A0 Sas et U, HZ AT o) F7t2 DHE Tt o
d ot NBR 112 QEHAS S S0 Of W7H7| = WO|X| YA St -2 3
‘ (no-slip) CIAT7} Qs AT A LMR2 AtASH 8Z 0 0| X7} [hKZ0|Ch
s [mm AHe 45 Zo| 82 a3 izl o B A Eol ZEY S 9ot iy
Srrhe 1% A2 -
ol N F0| B1E SRS 27 o1F0] AN MR T Holao £EBHl B =X
- \ / Sre|= Azto] AlE HICh BHO} S Z00| AMEICHR, HlojAo| # o BH Al
|SUBE WE A0 223 33502 w-snosip) O3 SR WA LY Y
! ‘ ! g =+ Utk
Q @P--«
A; S1
B 3
~ - |
- ( i
3
R AT B8
-2 0A3 Qe =R K LtAp A 2PN ap= q
Ic AL D h I2 I3 la Is d | s sl [N] [NJ# g g#t
406332 LMR.50-AS-M16x75 50 29 14.5 35 25.5 11 M16 75 8 12 14000 18000 188 213
406334 [LMR.50-AS-M16x100 5 29 145 35 255 11 | me 100 | 8 12 | 14000 18000 | 221 246
406336 [LMR.50-AS-M16x125 50 29 145 35 255 11 | me 125 | 8 12 | 14000 18000 | 254 279
406338 LMR.50-AS-M16x150 50 29 14.5 3.5 25.5 11 M16 150 8 12 14000 18000 287 312
406432 LMR.60-AS-M16x75 60 30 16 4 26 12 M6 75 8 12 12000 15000 215 259
406434 [LMR.60-AS-M16x100 0 30 16 4 2% 12 | M6 100 | 8 12 | 12000 15000 | 247 292
406436 [LMR.60-AS-M16x125 0 30 16 4 2 12 | me 125 8 12 | 12000 15000 | 280 325
406438 LMR.60-AS-M16x150 60 30 16 4 26 12 M16 150 8 12 12000 15000 313 358
406532 |LMR.80-AS-M16x75 80 32 18 5 27 13 | M6 75 8 12 | 11000 13000 | 238 341
406534 [LMR.80-AS-M16x100 0 2 18 5 7 13 | mie 100 | 8 12 | 11000 13000 | 298 400
406536 LMR.80-AS-M16x125 80 32 18 5 27 13 M16 125 8 12 11000 13000 331 434
406538 |LMR.80-AS-M16x150 0 32 18 5 27 13 | mie 150 | 8 12 | 11000 13000 | 364 467
406552 |LMR.80-AS-M20x75 80 33 18 5 28 13 | M0 75 | 10 15 | 11000 13000 | 347 450
406554 [LMR.80-AS-M20x100 0 33 18 5 28 13 | M0 100 | 10 15 | 1000 13000 | 398 501
406556 [LMR.80-AS-M20x125 80 33 18 5 28 13 | M0 125 | 10 15 | 11000 13000 | 449 552
406558 |LMR.80-AS-M20x150 80 33 18 5 28 13 | mo 150 | 10 15 | 11000 13000 | 500 603
406572 |LMR.80-AS-M24x100 80 3% 18 5 31 13 | M4 100 | 12 19 | 11000 13000 | 543 47
406574 LMR.80-AS-M24x125 80 36 18 5 31 13 M24 125 12 19 11000 13000 619 122
406576 |LMR.80-AS-M24x150 80 3% 18 5 31 13 | M4 150 | 12 19 | 1000 13000 | 693 796
406632 |LMR.100-AS-M16x75 100 34 2 6 % 14 | M6 75 8 12 | 7000 11000 | 302 472
406634 [LMR.100-AS-M16x100 100 34 2 6 8 14 | mie 100 | 8 12 | 7000 11000 | 362 532
406636 [LMR.100-AS-M16x125 100 34 2 6 28 14 | M6 125 | 8 12 | 7000 11000 | 395 565
406638 |LMR.100-AS-M16x150 100 34 2 6 28 14 | mie 150 | 8 12 | 7000 11000 | 428 598
406652 LMR.100-AS-M20x75 100 35 20 6 29 14 M20 75 10 15 7000 11000 411 581
406654 [LMR.100-AS-M20x100 100 35 2 6 29 14 | M0 100 | 10 15 | 7000 11000 | 462 632
406656 [LMR.100-AS-M20x125 100 35 2 6 29 14 | m20 125 | 10 15 | 7000 11000 | 513 683
406658 |LMR.100-AS-M20x150 100 35 2 6 29 14 | M0 150 | 10 15 | 7000 11000 | 564 734
406672 |LMR.100-AS-M24x100 100 38 20 6 32 14 | M4 100 | 12 19 | 7000 11000 | 608 778
406674 LMR.100-AS-M24x125 100 38 20 6 32 14 M24 125 12 19 7000 11000 683 853
406676 |LMR.100-AS-M24x150 100 38 2 6 32 14 | M4 150 | 12 19 | 7000 1000 [ 757 9w

“EXE b2 HAIE M RE

ELESA 2. B3 ol 97{8t BH A9, ELESA £2 HXE 0f &4 £XE T3}, Ele‘a





